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nce. Use the verbs in brackets and the righy

p Complete the next sente
form going to. Look at the example.

4.1 am going to get (get) some sleep.

2.1 MJ—SQA!‘—W ‘\'9——\“-}Q (go) In to the office early-
3. 53‘5“‘.\?.5;&‘_‘2 she 1A~/ €. (have) somethingto eat?

ﬁ-"- We A\ :ﬁ_'}“_.QQ\Y.".}_t Cir(not/run) out of time.
e g %0358—7(32 we _b:,e,__ (be) really early if we set off now.
< in brackets and the right form Will. Look at the

E3» Complete the next sentence. Use the verb

example.
4. You will not drop (not/drop)that, if ou're not careful.
2.Things &4/ “ not e —:— 4 (not/get) better.
SRR TC T ¥\_4 SHencT =N (say) that one more time?
CF they . “XNS __ (move) to Spain when | retire?
s.1 &\ oo o ve /P at this point.(not/give up)

the “will” future form. Change the sentence intoa

In each question, you will see a sentence using

" “be going to”form. See the examples.

1’ll see him tomorrow. I'm ‘golng to see him tomorrow.” =
She isn’t going to buy any more chocolate. She won't buy any more chocolate.

1. Will we buy some bacon? R\ =
2. The cougar is not going to attack you S
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3. | won’t win the race o 9810 80 \V\%

4. The cougar is not going to attack you — - \ o -
5. Are we going to buy him a pen for his birthday? W
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